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Construction of a Line Segment
A line segment is the shortest distance between two points or the line joining two points.
Construction of a Line Segment of a Given Length

Let us construct a line segment of 4.5 cm length using a ruler and a compass through the following steps-
Using a Ruler

step 1: Mark a point P on a paper.

Step 2: Place the ruler so that the zero (0) mark of the ruler coincides with

the point P. Now, mark another point Q on the paper against the 5
small divisions just after the 4 cm mark.

Step 3: Join points P and Q along the edge of the ruler. Thus, P_Q— =4.5 cm.
Using a Compass

Step 1: Draw a line I. Mark point A on it.
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Step 2: Place the pointer of the compass on the zero (0) mark of the ruler.
Open the compass so that the tip of the pencil touches the 4.5 cm
mark on the ruler.

Step 3: Without changing the measures of the compass, place the pointer
of compass at point A on line / and draw an arc of radius 4.5 cm,

which cuts line [ at B.

Thus, AB is the required line segment, i.e., AB =45cm.
Construction of a Line Segment Equal to the Given Line Segment

Let us draw line segment PQ whose length is equal to the given AB.

Step 3: Without changing the compass setting,

. ; PL than AB, whose
Step 1: Draw a line, say PL, langer than place the pointer on P of line PL.

length is not known.
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Step2: Fix the compass pointer on point A of AB and
stretch its end to point B. The opening of the

compass now gives the length of AB.
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Step 4: Make an arc that
cuts the ray at
Eo_int Q. Now
PQ is a copy of
AB.

Thus, PQ is the required line segment, which is same as line segment AB. P




ad Q and mark this point of

Step's; Similarly, taking B as the centre and with | Step 4 .]oin P ta'lon iih AB s O.
the same radius draw two arcs which cut intersect!
the previous arcs at P and Q respectively. 4
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Thus, PQ is the required perpendicular bisector of line segment AB.

Construction of a Perpendicular Line

We know that two lines (or rays or segments) are said to bse
they intersect each other at right angles.

In the given figure, lines / and m intersects at O and form a right angle, i.e., Z90°.
So, lines  and m are perpendicular to each other. They can be represented as Il m.

Let us now learn to construct perpendicular lines.

perpendicular if

Using a Ruler and a Compass
’ B T e N U % ; ; From a point outside the line

From a poiflt on the hne ‘ L2
Step 1: Draw a line [ and mark a point O anywhere | Step 1: Let ] be the given line and O be the point

on it. outside it.
- o o —— > *O
P 0 Q !
i i : I
' Step 2: With O as the centre, draw an arc to cut the Step 2: With O as the centre, draw an arc to cut the
line PQ at points A and B. line / at B and C.
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' Step 3: With A and B as centres and the radius of | Step 3: With Band C as centres and a radius of more
‘more than half AB, draw two arcs to cut at than half BC, draw two arcs to cut at D.
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Step 4: Join OC. Ray OC is perpendicular to line Step 4: Joi .
p o ep 4: Join OD. It is perpendicular to line .
PQ at O.
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